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3HQJHPEDQJDQ� RUJDQLVDVL�PHPEXWXKNDQ� VXPEHU� GD\D�PDQXVLD� RUJDQLVDVL�

\DQJ� SURIHVLRQDO� GDODP� PHQJHOROD� VLVWHP� GDQ� PHNDQLVPH� RUJDQLVDVL� WHUKDGDS�

VXPEHU�GD\D�\DQJ�DGD�XQWXN�PHQGXNXQJ�UHVSRQ�\DQJ�IOHNVLEHO�WHUKDGDS�SHUXEDKDQ�

6XPEHU�GD\D�PDQXVLD�DGDODK�VXDWX�NRPSRQHQ�YLWDO�EDJL�SHUXVDKDDQ��NDUHQD�VXPEHU�

GD\D�PDQXVLD� PHQMDGL� SHODNVDQD� XWDPD� DNWLYLWDV� PDQDMHULDO� GDQ� RSHUDVLRQDO� GL�

SHUXVDKDDQ� WHUVHEXW�� 2UJDQLVDVL� GLDUWLNDQ� VHEDJDL� VXDWX� SHUNXPSXODQ� DWDX�

SHUKLPSXQDQ�\DQJ�WHUGLUL�GDUL�GXD�RUDQJ�DWDX�OHELK�SXQ\D�NRPLWPHQ�EHUVDPD�GDQ�

LNDWDQ�IRUPDO�PHQFDSDL�WXMXDQ�RUJDQLVDVL��GDQ�GL�GDODP�SHUKLPSXQDQQ\D�WHUGDSDW�

KXEXQJDQ� DQWDU� DQJJRWD� GDQ� NHORPSRN� GDQ� DQWDUD� SHPLPSLQ� GDQ� DQJRWD� \DQJ�

GLSLPSLQ�DWDX�EDZDKDQ �5HLQKDUW]�	�%HDFK��������

3HUXEDKDQ� EXNDQ� KDQ\D� PHOLEDWNDQ� LQGLYLGX� WHWDSL� MXJD� NHORPSRN� GDQ�

RUJDQLVDVL� EXNDQ�KDQ\D�SDGD�GXQLD�ELVQLV�WHWDSL�MXJD�ELURNUDVL�SHPHULQWDKDQ��'L�

VDPSLQJ�LWX��SHUXEDKDQ�EXNDQ�KDQ\D�WHUMDGL�SDGD�OLQJNXQJDQ�LQWHUQDO� WHWDSL� MXJD�

HNVWHUQDO��3DGD�OLQJNXQJDQ�HNVWHUQDO��SHUXEDKDQ�EXNDQ�KDQ\D�WHUMDGL�SDGD�VHNWRU�

HNRQRPL�WHWDSL�MXJD�SROLWLN��VRVLDO��EXGD\D�GDQ�WHNQRORJL��%LVD�GLNDWDNDQ�PDQXVLD�

KLGXS� GDODP� OLQJNXQJDQ� \DQJ� VHGDQJ� EHUXEDK�� VHUED� EHUXEDK� GDQ� DNDQ� WHUXV�

EHUXEDK �$FKPDG��������

6HEXDK�WLP�GDODP�RUJDQLVDVL�PHZDNLOL�VHNHORPSRN�LQGLYLGX�SHJDZDL�\DQJ�

PHQJDQJJDS�GLUL�PHUHND�VHEDJDL�NXPSXODQ�VRVLDO�\DQJ�GDSDW�GL�LGHQWLILNDVL�GDODP�

VXDWX�RUJDQLVDVL �$VEDUL�	�1RYLWDVDUL���������$VEDUL�HW�DO���������� 3HULODNX�GDODP�
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RUJDQLVDVL�EHUDVDO�GDUL�GXD�VXPEHU��LQGLYLGX�GDQ�NHORPSRN��3HULODNX�NHORPSRN GDQ�

SHQJDUXK�LQWHUSHUVRQDO�MXJD�PHPEHULNDQ�NHNXDWDQ�SDGD�NLQHUMD�RUJDQLVDVL��6HLULQJ�

GHQJDQ�SHUXEDKDQ�OLQJNXQJDQ�ELVQLV�\DQJ�VHPDNLQ�LQWHQV��NUHDWLYLWDV�GDQ�LQRYDVL�

WHODK�PHQMDGL�NHJLDWDQ�XWDPD�GDQ�UXWLQ�EDJL�SHUXVDKDDQ�

%DQ\DN�SURJUDP�\DQJ�DGD�GL�,QGRQHVLD�\DQJ�WHODK�GLUHQFDQDNDQ�GDQ�PDXSXQ�

VHGDQJ� GLODNVDQDNDQ�� VHFDUD� VXEVWDQVLDO� WHQWXODK� VXGDK� GLGLVDLQ� VHFDUD� EDLN� GDQ�

RSWLPDO���$NDQ�WHWDSL��NHEHUKDVLODQ�SURJUDP�LWX��WLGDN�ELVD�GLXNXU�GDUL�VXEVWDQVLQ\D���

6XDWX�SURJUDP�ELVD�GLNDWDNDQ�EHUKDVLO�DSDELOD�SHODNVDQDDQ�SURJUDP�WHUVHEXW�WHODK�

VHVXDL� GHQJDQ�\DQJ� WHODK�GLUHQFDQDNDQ�� �6HODQMXWQ\D��SHODNVDQDDQ�SURJUDP� MXJD�

GLXNXU�GDUL�WLQJNDW�SHQFDSDLDQ�KDVLO�\DQJ�GLWDUJHWNDQ�

.XDOLWDV�NRODERUDVL�GDQ�.LQHUMD�7LP DQWDU GHSDUWHPHQ�LQL�VDQJDW�EHUJDQWXQJ�

SDGD IXQJVL� EHUEDJL� SHQJHWDKXDQ� GL� GDODP� WLP� NRODERUDVL �0RKDPPDGL�� 0���

<HJDQHK��(0�GDQ�5DG���������.LQHUMD�7LP MXJD�PHQFHUPLQNDQ�VLNDS�NHUMDVDPD��

NRPSHWHQVL�GDQ�EXGD\D�GL�EDOLN�VHWLDS OHPEDJD�GDQ�DQJJRWD�WLP�\DQJ�EHUSDUWLVLSDVL��

6HSHUWL� NRPXQLWDV� SURIHVLRQDO� ODLQQ\D�� 6HODLQ� LWX�� NHFHUGDVDQ� HPRVLRQDO SHVHUWD�

PHUXSDNDQ� IDNWRU SHQWLQJ� \DQJ� PHQGRPLQDVL� NLQHUMD� WLP� VHODPD� SURVHV�

SHUWXPEXKDQ�

%HUGDVDUNDQ�SHQJHWDKXDQ�WHRULWLV�GDQ�GLNRPELQDVLNDQ�GHQJDQ�SHQJDPDWDQ�

SUDNWLV�VHEHOXPQ\D�SDGD PDQDMHPHQ�SHQJHWDKXDQ�GDQ�NLQHUMD�WLP WHQDJD�NHVHKDWDQ�

XQWXN� PHQJDQDOLVLV� GDQ� PHQJHYDOXDVL� NLQHUMD� SHOD\DQDQ� NHVHKDWDQ�� VHKLQJJD�

GLWDZDUNDQ�PRGHO� DQDOLVLV� ³6WXGL�0DQDMHPHQ�3HQJHWDKXDQ� WHQWDQJ�.LQHUMD�7LP

WHQDJD� NHVHKDWDQ´�� GDQ�PHQMDGL� KDO� EDUX� GDODP� SHQHOLWLDQ� LQL��.HUMD� VDPD� \DQJ�

GLODNXNDQ�ROHK� WLP� OHELK�HIHNWLI�GDULSDGD�NHUMD� LQGLYLGX��%DQ\DN�SHQHOLWLDQ� WHODK�
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PHPEXNWLNDQ�EDKZD�NHUMD�WLP�PHQJDUDK�SDGD�HILVLHQVL�GDQ�HIHNWLYLWDV�\DQJ�OHELK�

EHVDU��$QVDUL���������+DO�LQL�VDQJDW�EHUEHGD�GHQJDQ�SHNHUMDDQ�\DQJ�GLODNXNDQ�ROHK�

LQGLYLGX�

6XPEHU�'D\D�0DQXVLD��6'0��DGDODK�VDODK�VDWX�IDNWRU \DQJ�VDQJDW�SHQWLQJ�

GDQ� EDKNDQ� WLGDN� GDSDW� GL� OHSDVNDQ� GDUL� VHEXDK� RUJDQLVDVL�� EDLN� LWX� RUJDQLVDVL�

LQVWLWXVL��SHUXVDKDDDQ�PDXSXQ�RUJDQLVDVL�VRVLDO��6'0�MXJD�PHUXSDNDQ�NXQFL�\DQJ�

PHQHWXNDQ�SHUNHPEDQJDQ�VHEXDK�RUJDQLVDVL��6'0�LQL�PHQHPSDWL�SHUDQ�SHQWLQJ�

NDUHQD�PDQXVLDODK�\QJ�GLEHUL�NHOHELKDQ�DNDO�GDQ� ILNULDQ�VHUWD�KDWL�XUDQL� VHEDJDL�

PRGDO�GDVDU�XQWXN�PHODNXNDQ�NHJLDWDQ�SHPEDQJXQDQ�GDQ�PHODNXNDQ�SHUXEDKDQ�

NHDUDK� \DQJ� OHELK� EDLN� 6LVWHP� SHQJHORODDQ� 6'0� \DQJ� WHSDW� PHUXSDNDQ� NXQFL�

NHEHUKDVLODQ�RUJDQLVDVL�XQWXN�PHQFDSDL�WXMXDQQ\D��.XDOLWDV�NRODERUDVL�GDQ�NLQHUMD�

WLP DQWDU�GHSDUWHPHQ�VDQJDW�EHUJDQWXQJ�SDGD�IXQJVL�EHUEDJL�SHQJHWDKXDQ�GL�GDODP�

WLP�NRODERUDVL�EXGD\D�VHWLDS�OHPEDJD�GDQ�DQJJRWD�WLP�\DQJ�EHUSDUWLVLSDVL��6HODLQ�

LWX�� NHFHUGDVDQ� HPRVLRQDO SHVHUWD�PHUXSDNDQ� IDNWRU SHQWLQJ� \DQJ�PHQGRPLQDVL�

.LQHUMD�7LP VHODPD�SURVHV�SHUWXPEXKDQ�

6XDWX� SURJUDP� VHULQJ� NDOL� GLNDWDNDQ� WLGDN� EHUKDVLO� NDUHQD� SURVHV�

SHODNVDQDDQQ\D�\DQJ�PHOLEDWNDQ�VXPEHUGD\D�PDQXVLD�\DQJ�WLGDN�VHODUDV�GHQJDQ�

DSD�\DQJ�WHODK�GLUHQFDQDNDQ��+DO�LQL�EHUSRWHQVL�VHNDOL�XQWXN�WLGDN�WHUFDSDLQ\D�KDVLO�

\DQJ�GLKDUDSNDQ�GDUL�SURJUDP�WHUVHEXW���3HQGDSDW�SHQXOLV�LQL�VHVXDL�GHQJDQ�SULQVLS�

PDQDMHPHQ� VXPEHU GD\D�PDQXVLD� \DQJ�GLQ\DWDNDQ�ROHK �5REELQV�� ����� EDKZD�

VDODK� VDWX� UDQJNDLDQ� GDODP� SURVHV� PDQDMHPHQ� VXPEHU GD\D� DGDODK�

SHQJRUJDQLVDVLDQ�� 3HQJRUJDQLVDVLDQ� EHUWXMXDQ� XQWXN� PHQFDSDL� KDVLO� \DQJ�
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GLUHQFDQDNDQ��6HKLQJJD�DSDELOD�GDODP�RUJDQLVDVL�WLGDN�WHUODNVDQD�VHVXDL�IXQJVLQ\D�

PDND�WXMXDQ�VXOLW�XQWXN�GLFDSDL���

6DODK� VDWX� SURJUDP� \DQJ� DGD� GL� ,QGRQHVLD� VDDW� LQL� DGDODK� SURJUDP� \DQJ�

PHQ\HGLDNDQ� DLU� PLQXP� EHVHUWD� VDQLWDVL� \DQJ� PHOLEDWNDQ� PDV\DUDNDW�� DWDX�

GLVLQJNDW�GHQJDQ�3DPVLPDV��6HEDJDL�VHEXDK�SURJUDP�QDVLRQDO�\DQJ�GLODNVDQDNDQ�

GL� VHOXUXK� ZLOD\DK� ,QGRQHVLD�� SURJUDP� LQL� GLNRRUGLQLU� GL� WLQJNDW� SXVDW� ROHK�

.HPHQWULDQ� 3HNHUMDDQ� 8PXP� �OHDGLQJ� VHFWRU��� %DSSHQDV� GDQ� .HPHQWULDQ�

.HVHKDWDQ� VHUWD� GLGXNXQJ� ROHK� %DQN� 'XQLD�� 6HODQMXWQ\D� VHFDUD� KLHUDUNLV��

GLODNVDQDNDQ� GL� PDVLQJ�PDVLQJ� SURYLQVL� GHQJDQ� NRRUGLQDVL� GDUL� 6.3'� �6DWXDQ�

.HUMD�3HUDQJNDW�'DHUDK�� WHUNDLW�VHFDUD�WHNQLV�\DLWX�'LQDV�3HNHUMDDQ�8PXP��'LQDV�

.HVHKDWDQ��'LQDV�3HPEHUGD\DDQ�0DV\DUDNDW GDQ�'HVD GDQ�%DSSHGD�VDPSDL�SDGD�

WLQJNDW�NDEXSDWHQ�GDQ�NRWD���

3URJUDP� 3DPVLPDV� PHUXSDNDQ� VDODK� VDWX� SURJUDP� SHPEHUGD\DDQ�

PDV\DUDNDW�� VHKLQJJD� GDODP� WDWD� ODNVDQDQ\D� EHUVLIDW� SDUWLVLSDWLI�� 8QWXN�

PHQJDNRPRGDVL� SDUWLVLSDVL� PDV\DUDNDW� \DQJ� LQJLQ� EHUSHUDQ� VHUWD� DNWLI� GDODP�

NHJLDWDQ� 3DPVLPDV� GLEHQWXN� .HORPSRN�0DV\DUDNDW� �32.0$6�� \DQJ� EHUSHUDQ�

SDGD�WDKDS�SHUHQFDQDDQ�GDQ�SHODNVDQDDQ�SHPEDQJXQDQ�VDUDQD�DLU�PLQXP��6HODLQ�

LWX��GLEHQWXN�MXJD�.HORPSRN�3HQJHOROD�6LVWHP�3HQ\HGLDDQ�$LU�0LQXP��.363$0��

\DQJ�EHUSHUDQ�GDODP�PHQJHOROD�VDUDQD�63$0�\DQJ�WHODK�WHUEDQJXQ��PHPHOLKDUD�

GDQ�PHQLQJNDWNDQ�NXDQWLWDV�� NXDOLWDV�� NRQWLQXLWDV� OD\DQDQ�DLU�PLQXP�\DQJ� OHELK�

OD\DN�� DPDQ�GDQ�EHUNHODQMXWDQ�EDJL�PDV\DUDNDW� GHVD��3HQJHORODDQ�NHEHUODQMXWDQ�

6LVWHP� 3HQ\HGLDDQ� $LU� PLQXP� �63$0�� GL� WLQJNDW PDV\DUDNDW� EHUWXMXDQ� XQWXN�
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PHQMDPLQ� 63$0� \DQJ� WHUEDQJXQ� WHWDS� WHUSHOLKDUD� GDQ� EHUIXQJVL� GHQJDQ� EDLN�

�3DPVLPDV���������

6HWHODK� SDVFD� NRQVWUXNVL� XQWXN� SHQJHORODDQ� GDQ� NHEHUODQMXWDQ� GL� WLQJNDW�

PDV\DUDNDW� 3URJUDP� 3DPVLPDV� LQL� QDQWLQ\D� DNDQ� GL� NHOROD� ROHK� .HORPSRN�

3HQJHOROD�6LVWHP�3HQ\HGLDDQ�$LU�0LQXP�\DQJ�GL�VLQJNDW�GHQJDQ�.363$0� 3HUDQ�

.363$0�DGDODK�����VHEDJDL�OHPEDJD�\DQJ�EHUWDQJJXQJ�MDZDE�GDODP�SHQJHORODDQ�

63$0�WHUEDQJXQ�GDQ�SURPRVL�SHQ\HKDWDQ�OLQJNXQJDQ�GL�WLQJNDW�GHVD�NHOXUDKDQ������

PLWUD� XWDPD�SHPHULQWDK� GHVD�NHOXUDKDQ�GDODP�XSD\D� SHUOXDVDQ� GDQ� SHQLQJNDWDQ�

MDQJNDXDQ�SHOD\DQDQ�DLU�PLQXP�GDQ�VDQLWDVL�GHVD�NHOXUDKDQ�

.363$0 .DEXSDWHQ�3DGDQJ�3DULDPDQ�GDSDW�PHPEDQWX�WHUFDSDLQ\D�WXMXDQ�

SHPHULQWDK�GDODP�PHOD\DQL�PDV\DUDNDW�XQWXN�PHQGDSDWDNDQ�DLU�EHUVLK��.HELMDNDQ�

%LGDQJ�$LU�0LQXP�PDVXN�GDODP�3ULRULWDV�1DVLRQDVO� �31����53-01�����������

\DLWX� PHPSHUNXDW� LQIUDVWUXNWXU� XQWXN� PHQGXNXQJ� SHQJHPEDQJDQ� HNRQRPL� GDQ�

SHOD\DQDQ�GDVDU�VHUWD�VHVXDL�GHQJDQ�3URJUDP�3ULRULWDV�GDODP�53-01������± �����

\DLWX�LQIUDVWUXNWXU�SHOD\DQDQ�GDVDU�SDGD�SHQ\HGLDDQ�DNVHV�DLU�PLQXP�GDQ�VDQLWDVL�

\DQJ� OD\DN� GDQ� DPDQ� XQWXN� VHOXUXK�PDV\DUDNDW� 3HPHULQWDK� ,QGRQHVLD�� $GDSXQ�

WDUJHW�53-01������± �����WHUNDLW�$NVHV�$LU�0LQXP�DGDODK�����$NVHV�$LU�0LQXP�

/D\DN�����������$NVHV�$LU�0LQXP�$PDQ����������$NVHV�$LU�0LQXP�3HUSLSDDQ�

���� GHQJDQ� 3HPEDQJXQDQ� ��� MXWD� 6DPEXQJDQ� 5XPDK� �65� �3HGRPDQ� 8PXP�

3URJUDP�3DPVLPDV���������

'LVDPSLQJ�LWX��3HPHULQWDK�VDDW�LQL�MXJD�GLKDGDSNDQ�SDGD�WDUJHW�SHQFDSDLDQ�

6XVWDLQDEOH� 'HYHORSPHQW� *RDOV �6'*V�� WDKXQ� ����� VHVXDL� GHQJDQ� 3HUDWXUDQ�

3UHVLGHQ� 5HSXEOLN� ,QGRQHVLD� 1RPRU� ��� WDKXQ� ����� 7HQWDQJ� 3HODNVDQDDQ�
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3HQFDSDLDQ�7XMXDQ�3HPEDQJXQDQ�%HUNHODQMXWDQ��NKXVXVQ\D�*RDO QRPRU���\DLWX�

(QVXUH�DYDLODELOLW\�DQG� VXVWDLQDEOH�PDQDJHPHQW�RI�ZDWHU�DQG� VDQLWDWLRQ� IRU�DOO

�0HQMDPLQ� NHWHUVHGLDDQ� VHUWD� SHQJHORODDQ� DLU� EHUVLK� GDQ� VDQLWDVL� \DQJ�

EHUNHODQMXWDQ�VHPXD��SDGD WDKXQ�������3HGRPDQ�8PXP�3URJUDP�3DPVLPDV���������

6DODK� VDWX� \DQJ� GLKDUDSDNDQ� GDODP� FDSDLDQ� WXMXDQ� 3URJUDP� 3DPVLPDV� DGDODK�

PDV\DUDNDW�PHPSHUROHK�DNVHV�\DQJ�NHEHUODQMXWDQ�WHUKDGDS�SHOD\DQDQ�DLU�PLQXP�

\DQJ�DPDQ�GDQ�VDQLWDVL�\DQJ�OD\DN��VHUWD�PDPSX�PHQJJXQDNDQ��PHPHOLKDUD��GDQ�

PHQJHOROD�SHOD\DQDQ�VHFDUD�PDQGLUL��HIHNWLI��GDQ�EHUNHODQMXWDQ������

3DGD� GDVDUQ\D�� 3URJUDP� 3DPVLPDV� ODKLU� VHEDJDL� EHQWXN� NHSHGXOLDQ�

WHUKDGDS�VXPEHU GD\D�DLU�GDQ�PHPHQXKL�NHEXWXKDQ�PDV\DUDNDW�GDODP�PHPSHUROHK�

DLU� PLQXP� GDQ� VDQLWDVL� \DQJ� OD\DN�� 3HPEDQJXQDQ� LQIUDVWUXNWXU� EHUXSD� VDUDQD�

SHQ\HGLDDQ� DLU� PLQXP� \DQJ� WHODK� GLVHGLDNDQ� GL� WLQJNDW� PDV\DUDNDW� VHODQMXWQ\D�

SHUOX�GLNHOROD�ROHK�PDV\DUDNDW�DJDU�ELVD�PHPEHULNDQ�PDQIDDW�\DQJ�EHUNHODQMXWDQ���

3DGD�WDKDS�SDVFD�NRQVWUXNVL�LQLODK�SHUDQ�SHQJHORODDQ�PHODOXL�EDGDQ�SHQJHOROD�GL�

WLQJNDW�PDV\DUDNDW�PHPHJDQJ�NXQFL�XWDPD�LQGLNDWRU�NHEHUKDVLODQ�SURJUDP�

6HWHODK�WHUEDQJXQQ\D�VDUDQD�DLU�PLQXP�GDQ�VDQLWDVL�GL�WLQJNDW�PDV\DUDNDW�

DGD�EHEHUDSSD�WDQWDQJDQ�\DQJ�GLKDGDSL�XQWXN�PHZXMXGNDQ�NHEHUODQMXWDQ�OD\DQDQ�

DLU�PLQXP�GL�SHUGHVDDQ��DQWDUD�ODLQ��D��%HOXP�PHPDGDLQ\D�GXNXQJDQ�.HJLDWDQ�GDQ�

DQJJDUDQ� $3%'� EDJL� SHQLQJNDWDQ� DNVHV� 63$0� EHUEDVLV� PDV\DUDNDW� XQWXN�

PHPHQXKL�VWDQGDUG�SHQFDSDLDQ�RSWLPDO��6'*V���E� %HOXP�PHUDWDQ\D�NDSDVLWDV�GDQ�

NDSDELOLWDV�SHQJHOROD�63$0�'HVD��GDQ�PDVLK�NXUDQJQ\D�SHUKDWLDQ�3HPGD�XQWXN�

NHJLDWDQ�SHQLQJNDWDQ�NDSDVLWDV��F� %HOXP�WHUVHGLDQ\D�VLVWHP�LQIRUPDVL�PDQDMHPHQ�

DLU�PLQXP�SHUGHVDDQ�VHEDJDL�EDVLV�SHQJDPELODQ�NHSXWXVDQ�.HJLDWDQ�GDQ�DQJJDUDQ�
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SHPEDQJXQDQ�DLU�PLQXP�GDHUDK��G� %HOXP�GLPDQIDDWNDQQ\D�VHFDUD�RSWLPDO�SRWHQVL�

SHQGDQDDQ�GDUL�EDGDQ�XVDKD�EDLN�SHPHULQWDK�PDXSXQ�VZDVWD��OHPEDJD�NHXDQJDQ��

GDQ�PDV\DUDNDW�XQWXN�PHQGXNXQJ�LQYHVWDVL�SHPEDQJXQDQ�63$0�SHUGHVDDQ 2OHK�

NDUHQD�LWX��EDGDQ�LQL�SHUOX�GLOHQJNDSL�GHQJDQ�VDUDQD�\DQJ�EHUVLIDW�WHNQLV�GDQ�QRQ�

WHNQLV��GL�PDVD�VHNDUDQJ�GDQ�PDVD�GHSDQ �3DPVLPDV��������

.DEXSDWHQ�3DGDQJ�3DULDPDQ�DGDODK�VDODK�VDWX�ZLOD\DK�DGPLQLVWUDWLI�\DQJ�

PHODNVDQDNDQ�3URJUDP�3DPVLPDV�VHMDN�7DKXQ������VDPSDL�VHNDUDQJ���3DGD�VDDW�

LQL WHODK� WHUEHQWXN� VHEDQ\DN� ��� NHORPSRN� .363$0�� \DQJ� WHUVHEDU� GL� ���

.HFDPDWDQ�� $UWLQ\D�� GL� :LOD\DK� .DEXSDWHQ� 3DGDQJ� 3DULDPDQ� WHODK� EHUKDVLO�

GLEDQJXQ�VDUDQD�DLU�PLQXP�EHUEDVLV�PDV\DUDNDW�GL����NHFDPDWDQ���6HKLQJJD�XQWXN�

PHQMDPLQ�NHEHUODQMXWDQ� IXQJVL�VDUDQD�DLU�PLQXP�GDQ�VDQLWDVL� LQL�� WHODK�GLEHQWXN�

.363$0 GL� WLDS� VDUDQD� \DQJ� WHODK� WHUEDQJXQ� %HULNXW� DGDODK� ULQFLDQ� MXPODK�

.363$0�\DQJ�WHUVHEDU�GL����NHFDPDWDQ�WHUVHEXW�

7DEOH����
-XPODK�.363$0 3HU�.HFDPDWDQ

7DKXQ�����

1R 1DPD�.HFDPDWDQ
-XPODK�
.363$0

�

� 9,,�.RWR�6XQJDL�6DULN �� �����
� 9�.RWR�7LPXU �� �����
� 9�.RWR�.S�'DODP �� �����
� 6XQJDL�/LPDX � ����
� 6XQJDL�*HULQJJLQJ �� �����
� 3DWDPXDQ �� �����
� 3DGDQJ�6DJR � ����
� /XEXN�$OXQJ � ����
� ,9�.RWR�$XU�0DOLQWDQJ �� ����
�� (QDP�/LQJNXQJ � ����
�� %DWDQJ�*DVDQ � ����
�� %DWDQJ�$QDL � ����
�� �;���.D\X�7DQDP �� ����
�� ��;����(QDP�/LQJNXQJ � ����

-XPODK ��� ���
6XPEHU��'DWD�6LP�3DPVLPDV�������
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%HUGDVDUNDQ� REVHUYDVL� \DQJ� WHODK� GL� ODNXNDQ� GDSDW� GLVLPSXONDQ� EDKZD�

DQJJRWD�.363$0�NXUDQJ�EHUSDUWLVLIDVL�DNWLI�GDODP�PHODNVDQDNDQ�SHNHUMDDQQ\D��

VHODLQ� LWX� WLGDN� VHPXD� DQJJRWD� NHORPSRN� \DQJ� PHPLOLNL� LGH� NUHDWLI� GDODP�

NHSHQJXUXVDQ�.363$0� 'DODP�SHUMDODQQQ\D�SURJUDP�KDQ\D�EHUWXPSX�SDGD�NHWXD�

GDQ� EHEUDSD� RUDQJ� VDMD� VHKLQJJD� NRRUGLQDVL� GDODP� RUJDQLVDVL� LQL� WLGDN� EHUMDODQ�

RSWLPDO� 6HPHQWDUD�DQJJRWD�WLP�GDODP�VXDWX�RUJDQLVDVL�VDQJDW�GL�EXWXKNDQ�XQWXN�

NHEHUODQMXWDQ�VHEXDK�RUJDQLVDVL�LWX�VHQGLUL� .HEHUODQMXWDQ�2UJDQLVDVL�.363$0 LQL�

DNDQ� EHUMDODQ� GHQJDQ� OHELK� EDLN� MLND� VHPXD� SHQJXUXV� LNXW� EHUSDUWLVLSDVL� DNWLI��

.HEHUKDVLODQ� NHEHUODQMXWDQ� SURJUDP� GDSDW� GLOLKDW� WLGDN� KDQ\D� GDUL� VDUDQD� \DQJ�

EHUIXQJVL�EDLN�VDMD�WHWDSL�MXJD�VDQJDW�GL�GXNXQJ�ROHK�.LQHUMD�$QJJRWD�7LP�

'L� VDPSLQJ� REVHUYDVL� DZDO� \DQJ� WHODK� GLODNXNDQ�� SHQXOLV� MXJD�PHODNXNDQ�

VWXGL� OLWHUDWXUH� GDQ� PHQJXPSXONDQ� GDWD� VHNXQGHU� WHQWDQJ� NHDGDDQ� NLQHUMD�

.363$0 \DQJ� DGD� GL� .DEXSDWHQ� 3DGDQJ� 3DULDPDQ� \DQJ� EHUMXPODK� ����� 'DUL�

/DSRUDQ�GDWD�6,0�3URJUDP�3DPVLPDV�:LOD\DK�.DEXSDWHQ�3DGDQJ�3DULDPDQ���������

8QWXN���PHQJHWDKXL���GDQ���PHOLKDW���IHQRPHQD���NLQHUMD�WLP�.363$0 .DEXSDWHQ�

3DGDQJ�3DULDPDQ�PDND�SHQXOLV�PHODNXNDQ�VXUYH\�DZDO�SDGD�.HORPSRN�3HQJHOROD�

6LVWHP�3HQ\HGLDDQ�$LU�0LQXP�3URJUDP�3DPVLPDV�.DEXSDWHQ�3DGDQJ�3DULDPDQ�

3URYLQVL�6XPDWHUD�%DUDW VHEDQ\DN����NHORPSRN��GHQJDQ�KDVLO�VHEDJDL�EHULNXW�
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7DEOH����
)HQRPHQD�.LQHUMD�7LP�.3�63$0 3URJUDP�3DPVLPDV�.DEXSDWHQ�3DGDQJ�

3DULDPDQ�3URYLQVL�6XPDWHUD�%DUDW
7DKXQ�����

1R� 3HUWDQ\DDQ
-DZDEDQ
�2UJ�

3HUVHQWDVH ���

<D 7LGDN <D 7LGDN
� 7LP�LQL�PHPLOLNL�WXMXDQ�\DQJ�MHODV� �� � ����� �����
� 7XMXDQ�WLP�GLEXDW�GHQJDQ�PHQJLQJDW�

SHUEHGDDQ�LQGLYLGX�DQJJRWD�WLP�
�� � ����� ����

� $GD�PDQDMHPHQ�NRQIOLN�\DQJ�
NRQVWUXNWLI�GDQ�NRQVHOLQJ�GDODP�WLP�

� �� ���� ������

� $QJJRWD�WLP�PHPLOLNL�NHWHUEXNDDQ�
GDQ�NHSHUFD\DDQ�

�� �� ����� �����

� 6HOXUXK�WLP�PHQ\DGDUL�SURVHVQ\D� �� �� ����� �����
� $QJJRWD�WLP�PHPLOLNL�SHUDQ�GDQ�

WDQJJXQJ�MDZDE�\DQJ�MHODV
�� �� ����� �����

� $GD�SHUHQFDQDDQ�RSHUDVLRQDO�\DQJ�
PHQ\HOXUXK�GHQJDQ�NHWHUOLEDWDQ�WLP

�� �� ����� �����

� $GD�NRPXQLNDVL�\DQJ�PHPDGDL�GL�
DQWDUD�DQJJRWD�WLP�

�� �� ����� �����

� $QJJRWD�WLP�LQL�WHUDPSLO� �� �� ����� �����
�� $GD�EDQ\DN�XPSDQ�EDOLN�NOLHQ�GL�

WLQJNDW�RUJDQLVDVL�
� �� ����� �����

�� 'L�WLP�VD\D��VHWLDS�DQJJRWD�PHPLOLNL�
SHQDPSLODQ�LQGLYLGX�\DQJ�EDJXV�

� �� ����� �����

�� ,GH�LGH�EDUX�GLVDPEXW�GDUL�DQJJRWD�
WLP

�� �� ����� �����

�� $GD�OLQJNXQJDQ�NHUMD�\DQJ�
PHQ\HQDQJNDQ�GDODP�WLP�LQL�

� �� ����� �����

�� 3ULRULWDV�GLWHWDSNDQ�WHQWDQJ�WXJDV�WLP� �� �� ����� �����
�� $QJJRWD�WLP�EHNHUMD�VDPD�VDWX�GHQJDQ�

\DQJ�ODLQQ\D�
�� �� ����� �����

�� $GD�EDQ\DN�XPSDQ�EDOLN�NOLHQ�GL�
WLQJNDW�RUJDQLVDVL

� �� ����� �����

5DWD�UDWD ����� �����
6XPEHU��6XUYH\�DZDO�������

%HUGDVDUNDQ WDEHO� ��� GLDWDV� GDSDW� GLOLKDW� EDKZD� UHVSRQGHQ� PHPEHULNDQ�

MDZDEDQ�GHQJDQ�NDWHJRUL� MDZDEDQ�WLGDN�VHEHVDU������ ���+DO� LQL�GDSDW�GLDUWLNDQ�

EDKZD�.LQHUMD� 7LP .363$0�3URJUDP� 3DPVLPDV�.DEXSDWHQ� 3DGDQJ� 3DULDPDQ�

PDVLK� UHQGDK�� 0LVDOQ\D�� EHOXP� WHUVHGLDQ\D� ZDGDK� PDQDMHPHQ� NRQIOLN� GDODP�
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RUJDQLVDVL�VHEHVDU������ 6HEDQ\DN��������.363$0�PHQ\DWDNDQ�EDKZD��+DPSLU�

VHOXUXK� WLP� WLGDN�PHPOLOLNL� EDQ\DN� XPSDQ� EDOLN� NOLHQ� GL� WLQJNDW� RUJDQLVDVL� GDQ�

VHEDQ\DN� ������� \DQJ� PHQ\DWDNDQ� EDKZD� WLGDN� VHWLDS� DQJJRWD� PHPLOLNL�

SHQDPSLODQ�LQGLYLGX�\DQJ�EDJXV�GDQ�WLGDN�PHPLOLNL�OLQJNXQJDQ�NHUMD�\DQJ�Q\DPDQ�

5HQGDKQ\D� NLQHUMD� WLP� WHUVHEXW� PHQMDGL� GDVDU� XWDPD� EDJL� SHQXOLV� XQWXN�

PHQHPSDWNDQ�YDULDEHO�NLQHUMD�WLP VHEDJDL�IRNXV�GDODP�SHQHOLWLDQ�LQL�

'LDQWDUD�YDULDEHO�\DQJ�GDSDW�PHPSHQJDUXKL�NLQHUMD� WLP�DGDODK�NHFHUGDVDQ�

HPRVLRQDO��6HWLDZDQ��������6LOLWRQJD�HW�DO���������6XSULDGL�	�6HIQHGL��������<LQ�

HW�DO���������=XOIDGLO�HW�DO����������LNOLP�RUJDQLVDVL �$O�0DGDGKD�HW�DO���������/HVWDUL�

HW�DO���������6HWLDGL�HW�DO�������� GDQ�NQRZOHGJH�VKDULQJ �6HWLDZDQ��������<DS��	�

1J��������<XOLDQV\DK�HW�DO���������=XOIDGLO�HW�DO���������

%HEHUDSD�OLWHUDWXU�PHQMHODVNDQ�EDKZD�NQRZOHGJH�VKDULQJ GL�SHQJDUXKL�ROHK�

NHFHUGDVDQ�HPRVLRQDO��0RKDPPDGL��HW�DO���������5DILT�HW�DO���������6HWLDZDQ��������

=XOIDGLO�HW�DO����������GDQ�LNOLP�RUJDQLVDVL���'HYLQD�HW�DO���������.LP�	�3DUN��������

6DUDK�� ������� 'HQJDQ� GHPLNLDQ� YDULDEOH� NQRZOHGJH� VKDULQJ EHUDGD� GLDQWDUD�

YDULDEOH�NHFHUGDVDQ�HPRVLRQDO��LNOLP�RUJDQLVDVL�GDQ�NLQHUMD�WLP� DWDX�GHQJDQ�NDWD�

ODLQ�NQRZOHGJH�VKDULQJ�EHUSHUDQ�VHEDJDL�YDULDEOH PHGLDVL�

3HQHOLWLDQ� LQL� PHUXSDNDQ� PRGLILNDVL� GDUL� SHQHOLWLDQ \DQJ GLODNXNDQ� ROHK�

�6HWLDZDQ�� ����� GLPDQD� GDODP� SHQHOLWLDQ� WHUVHEXW� NLQHUMD� WLP� VHEDJDL� YDULDEOH�

WHULNDW��NQRZOHGJH�VKDULQJ GDQ�NRQIOLN�WLP VHEDJDL�YDULDEOH�PHGLDVL��GDQ�YDULDEOH�

EHEDV�DGDODK�NHFHUGDVDQ�HPRVLRQDO�GDQ�NRPLWPHQ�RUJDQLVDVL��6HODQMXWQ\D�SHQHOLWL�

PHODNXNDQ�PRGLILNDVL�SHQHOLWLDQ� LQL�GHQJDQ�FDUD�PHQQJJDQWL�YDULDEOH�NRPLWPHQ�

RUJDQLVDVL� GHQJDQ� LNOLP� RUJDQLVDVL�� 3HQJJDQWLDQ� YDULDEOH� NRPLWPHQW� RUJDQLVDVL�
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GHQJDQ� LNOLP�RUJDQLVDVL� WHUVHEXW�GL� GXNXQJ�ROHK� SHQHOLWLDQ�.LP�	�3DUN�� ������

\DQJ� PHQHPXNDQ� LNOLP� RUJDQLVDVL� EHUSHQJDUXK� WHUKDGDS� NQRZOHGJH� VKDULQJ��

3HQHOLWDLQ�ODLQ�\DQJ�PHQGXNXQJ�KXEXQJDQ�DQWDUD�LNOLP�RUJDQLVDVL�GDQ�NLQHUMD�WLP�

DGDODK��6HWLDGL�HW�DO���������

%HUGDVDUNDQ�XUDLDQ�VHEHOXPQ\D�PDND�SHQXOLV WHUWDULN�PHODNXNDQ�SHQHOLWLDQ�

GHQJDQ� MXGXO� ³3HQJDUXK� .HFHUGDVDQ� (PRVLRQDO 'DQ� ,NOLP� 2UJDQLVDVL

7HUKDGDS�.LQHUMD�7LP 'HQJDQ�.QRZOHGJH�6KDULQJ�6HEDJDL�9DULDEHO�0HGLDVL´�

���� 5XPXVDQ�0DVDODK

%HUGDVDUNDQ� XUDLDQ ODWDU� EHODNDQJ� GLDWDV�� PDND� UXPXVDQ� PDVDODK� GDODP�

SHQHOLWLDQ�LQL�GDSDW�GLNHPXNDNDQ�VHEDJDL�EHULNXW�

�� $SDNDK� NHFHUGDVDQ� HPRVLRQDO� EHUSHQJDUXK� WHUKDGDS� NLQHUMD� WLP SDGD�

.HORPSRN� 3HQJHOROD� 63$0� 3URJUDP� 3DPVLPDV� .DEXSDWHQ� 3DGDQJ�

3DULDPDQ"

�� $SDNDK� LNOLP�RUJDQLVDVL�EHUSHQJDUXK� WHUKDGDS�NLQHUMD� WLP�SDGD�.HORPSRN�

3HQJHOROD�63$0�3URJUDP�3DPVLPDV�.DEXSDWHQ�3DGDQJ�3DULDPDQ"

�� $SDNDK�NHFHUGDVDQ�HPRVLRQDO EHUSHQJDUXK�WHUKDGDS�NQRZOHGJH�VKDULQJ�SDGD�

.HORPSRN� 3HQJHOROD� 63$0� 3URJUDP� 3DPVLPDV� .DEXSDWHQ� 3DGDQJ�

3DULDPDQ"

�� $SDNDK� LNOLP� RUJDQLVDVL EHUSHQJDUXK� WHUKDGDS� NQRZOHGJH� VKDULQJ SDGD�

.HORPSRN� 3HQJHOROD� 63$0� 3URJUDP� 3DPVLPDV� .DEXSDWHQ� 3DGDQJ�

3DULDPDQ"

�� $SDNDK�NQRZOHGJH�VKDULQJ�EHUSHQJDUXK�WHUKDGDS NLQHUMD�WLP SDGD�.HORPSRN�

3HQJHOROD�63$0�3URJUDP�3DPVLPDV�.DEXSDWHQ�3DGDQJ�3DULDPDQ"
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�� $SDNDK� NQRZOHGJH� VKDULQJ� PHPHGLDVL� KXEXQJDQ� DQWDUD� NHFHUGDVDQ�

HPRVLRQDO� GHQJDQ NLQHUMD� WLP SDGD� .HORPSRN� 3HQJHOROD� 63$0� 3URJUDP�

3DPVLPDV�.DEXSDWHQ�3DGDQJ�3DULDPDQ�"

�� $SDNDK� NQRZOHGJH� VKDULQJ� PHPHGLDVL� KXEXQJDQ� DQWDUD� LNOLP� RUJDQLVDVL�

GHQJDQ NLQHUMD� WLP SDGD� .HORPSRN� 3HQJHOROD� 63$0� 3URJUDP� 3DPVLPDV�

.DEXSDWHQ�3DGDQJ�3DULDPDQ"

���� 7XMXDQ�'DQ�0DQIDDW�3HQHOLWLDQ

����� 7XMXDQ 3HQHOLWLDQ

%HUGDVDUNDQ� ODWDU� EHODNDQJ� GDQ� SHUXPXVDQ� PDVDODK� \DQJ� WHODK� GL�

VDPSDLNDQ�GLDWDV�PDND�SHQHOLWLDQ�LQL�VHFDUD�HPSLULV�EHUWXMXDQ�XQWXN�PHQJHWDKXL�

� 8QWXN� PHPEXNWLNDQ GDQ� PHQJDOLVLV� VHFDUD� HPSLULV� DSDNDK� NHFHUGDVDQ�

HPRVLRQDO� EHUSHQJDUXK� WHUKDGDS� NLQHUMD� WLP SDGD� .HORPSRN� 3HQJHOROD�

63$0�3URJUDP�3DPVLPDV�.DEXSDWHQ�3DGDQJ�3DULDPDQ�

� 8QWXN�PHPEXNWLNDQ�GDQ�PHQJDOLVLV VHFDUD�HPSLULV�DSDNDK�LNOLP�RUJDQLVDVL�

EHUSHQJDUXK�WHUKDGDS�NLQHUMD�WLP SDGD�.HORPSRN�3HQJHOROD�63$0 3URJUDP�

3DPVLPDV�.DEXSDWHQ�3DGDQJ�3DULDPDQ�

� 8QWXN� PHPEXNWLNDQ� GDQ� PHQJDOLVLV VHFDUD� HPSLULV� DSDNDK� NHFHUGDVDQ�

HPRVLRQDO� EHUSHQJDUXK� WHUKDGDS NQRZOHGJH� VKDULQJ SDGD� .HORPSRN�

3HQJHOROD�63$0 3URJUDP�3DPVLPDV�.DEXSDWHQ�3DGDQJ�3DULDPDQ�

� 8QWXN�PHPEXNWLNDQ�GDQ�PHQJDOLVLV VHFDUD�HPSLULV�DSDNDK�LNOLP�RUJDQLVDVL�

EHUSHQJDUXK�WHUKDGDS NQRZOHGJH�VKDULQJ SDGD�.HORPSRN�3HQJHOROD�63$0

3URJUDP�3DPVLPDV�.DEXSDWHQ�3DGDQJ�3DULDPDQ�
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� 8QWXN� PHPEXNWLNDQ� GDQ� PHQJDOLVLV VHFDUD� HPSLULV� DSDNDK� NQRZOHGJH�

VKDULQJ EHUSHQJDUXK�WHUKDGDS�NLQHUMD�WLP SDGD�.HORPSRN�3HQJHOROD�63$0

3URJUDP�3DPVLPDV�.DEXSDWHQ�3DGDQJ�3DULDPDQ�

� 8QWXN� PHPEXNWLNDQ� GDQ� PHQJDOLVLV VHFDUD� HPSLULV� DSDNDK� NQRZOHGJH�

VKDULQJ PHPHGLDVL� KXEXQJDQ� DQWDUD� NHFHUGDVDQ� HPRVLRQDO� GHQJDQ� NLQHUMD�

WLP SDGD�.HORPSRN�3HQJHOROD�63$0 3URJUDP�3DPVLPDV�.DEXSDWHQ�3DGDQJ�

3DULDPDQ�

� 8QWXN� PHPEXNWLNDQ� GDQ� PHQJDOLVLV VHFDUD� HPSLULV� NQRZOHGJH� VKDULQJ

PHPHGLDVL� KXEXQJDQ� DQWDUD� LNOLP� RUJDQLVDVL� GHQJDQ� NLQHUMD� WLP� SDGD�

.HORPSRN� 3HQJHOROD� 63$0 3URJUDP� 3DPVLPDV� .DEXSDWHQ� 3DGDQJ�

3DULDPDQ�

����� 0DQIDDW�3HQHOLWLDQ

+DVLO�SHQHOLWLDQ�LQL�GLKDUDSNDQ�QDQWLQ\D�GDSDW�PHPEHULNDQ�PDQIDDW�VHEDJDL�

EHULNXW�

� 6HFDUD�7HRULWLV�

+DVLO� SHQHOLWLDQ� LQL� XQWXN� PHQJNRQILUPDVL� WHRUL� \DQJ� PHQ\DWDNDQ�

EDKZD� NQRZOHGJH� VKDULQJ GLDNXL� VHEDJDL� IDNWRU� SHQWLQJ� \DQJ� PHPHGLDVL�

DQWDUD�NHFHUGDVDQ�HPRVLRQDO�GDQ�LNOLP�RUJDQLVDVL�GHQJDQ�NLQHUMD�WLP��6HODLQ�

LWX� MXJD� PHQJLGHQWLILNDVL� YDULDEOH� DWDX� IDNWRU�IDNWRU� \DQJ� PHPSHQJDUXKL�

YDULDEOH�NLQHUMD�WLP��

� 0DQIDDW�3UDNWLV

3HQHOLWLDQ�LQL�PHPEHULNDQ�PDQIDDW�WHUKDGDS�3HPHULQWDKDQ�.DEXSDWHQ�

3DGDQJ 3DDULPDQ� GDODP� KDO� SHQJDPELODQ� NHSXWXVDQ� GDQ� NHELMDNDQ� XQWXN�
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NHEHUKDVLODQ� GDQ� NHEHUODQMXWDQ� SURJUDP� VHUWD� PHQJHWDKXL� IDNWRU� DSD� VDMD�

\DQJ� PHPSHQJDUXKL� NLQHUMD� WLP�� %DJL� SDUD� SHPEDFD�� SHQHOLWLDQ� LQL� MXJD�

GLKDUDSNDQ� GDSDW� PHQDPEDK� ZDZDVDQ� SHPEDFD� WHUKDGDS� 3HQJDUXK�

NHFHUGDVDQ� HPRVLRQDO GDQ� LNOLP� RUJDQLVDVL� WHUKDGDS� NLQHUMD� WLP GHQJDQ�

NQRZOHGJH�VKDULQJ�VHEDJDL�YDULDEHO�PHGLDVL�


